Find GCD of
15.0um.eu &rewiss  16x%y2, 24xy3z
a. 8xy? b. 16 xy?

Find GCD of
18.0um.6n &mewia (a-b)?, (b-c)3, (c-a)
a. (a-b)? b. (b-c)?

Find the GCD of
15.0um.6u Smewiss p2, pil p9

a. p° b. p°

Find the GCD of
15.0um.eu srewis 4x3 y3, z3

a. Xyz b.1 C. X2yz

Find the LCM of
B.8.10 srewiss 25ab3c, 100a2bc, 125ab
a. 25 abc b. 25ab c. 25ab? d. 500a2b3c

Find the LCM of
5.6.l0 &mewiss. am*l, gm+2 gm+3
a. am+2 b. am+*1

Find the GCD of
5.0um.6u Smewis.  3a2, Sb3,7ct
a.1 b.2 c. 3a2 d. 2b2
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Find the GCD of
15.0um.eu smewrs. x4 -1, x2-1

a.x-1 b. x3-2

Find the GCD of
18.0um.en sTewis. a3 — 9ax?, (a - 3x)2
a.a+ 3x b.a - 3x

Find the H.C.F of
5.0um.eu smewis. 12 & 20
a.3 b.2

Find the H.C.F. of
5.0um.eu srewis. 16 & 24
a.4 b.6

Find the H.C.F of
5.0ur.eu srews. 11 & 29
a.2 b.1

Find the H.C.F. of
15.0um.eu smewis. 90, 15
a. 15 b.5 c. 25 d. 20

What is the greatest possible volume of a vessel that can be used to
measure exactly the volume of milk in cans (in full capacity) of 80 litres,
100 litres and 120 litres?

Wapeugiord  Biyiuiud Getemr 80 &L, 100 edlLJ wmmibd 120 60 L
O®BTeiTeNeNa| 2 6T  &H6VETH6N6D  LUTelleneld  FHWTS  SeMdbHd  dnlgul
UTHHTHH B DIHFBLILFH CBT6iT6N6Ne) 616376017

a. 241 b. 20! c. 28! d. 16/

Find the LCM
5.8.10 srewis. 6,9

a. 36 b. 18

Find the LCM
5.8.10 smewis. 8,12
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a. 24 b. 16

Find the LCM
5.8..0 smewiss. 15,25,75
a.7b5 b. 150 c. 175 d. 225

The LCM of two numbers is 432 and their HCF is 36. If one of the

numbers is 108, then find the other number.

Om erewigeer ..o 432 woB@d Seuppler W.0u.sT 36.  @F etewr 108
oT6dlleL, LoBEWITT 61606 6T65T60 7

a. 156 b. 121 c. 144 d. 100

There are four Mobile Phones in a house. At 5 a.m, all the four Mobile
Phones will ring together. Thereafter, the first one rings every 15
minutes, the second one rings every 20 minutes, the third one rings
every 25 minutes and the fourth one rings every 30 minutes. At what

time, will the four Mobile Phones ring together again?

QM Qillged HTIE DMeoCUFH6T 2 6iTeNiedl.  HTEMEL 5  LD6WNHG), 61606VT
SImVCUFBEDHID PHBTH  Peldb@GHID.  DiHeT L6, (1pFH60 DlenevBLFIWITeg)
@alOeurp 15 ML mSelend @Fenimeugdl SiemeoBudlwmerdl eealGeurm 20
BILOL miselled  cpeaipTougd SimevCudlwneaig eelGeum@m 25 B misemed
BOID  BrasTeusl SmeoBudlwnerigdsl  geleuth 30 BIOLmseflenid
@6VIHD GBI 6160160, Diewe ewIBLD 6TICUTHI QETIBTH eddh@EHD?

a. 11 am b. 10.40 am c. 10.30 am d. 10.00 am

What is the greatest number that will divide 62, 78 and 109 leaving
remainders 2, 3 and 4 respectively?

62, 78 1oBmib 109-3 uGHHH (WosGw 2, 3 1oB@ID 4-3 BFHBeNTHD
C&THHGWD WBLICL OUTHIs HTyent 6leter?

a.15 b. 20 c.25 d.5
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